10

107>

10°°

Ratio to Pythia 6.428 345

0.5

1960 GeV ppbar
R

---0-- Pythia 6.428 345
----- i+ Pythia 6.428 346
—A— Pythia 6.428 370
Pythia 6.428 default
—— Pythia 8.308 default

|'I'I'I'I'|'|
pT (top) (Mtt > 450 dy > 0)

Top (parton Igvgl)_

| | |||||||
Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

 Abag A AL LA

T \ritir |
: A
\ TS ik
yEE

& '!f-;:' -} T- AL A — ?._._ - " T . & -” ‘; ’ A J‘
L . 4 SESSS wpymym Aﬂ-‘l g i i Ii " " :j_
- . _: - ZFE]
[ .. 1 1 P B 1 1 P B L. P I 1 1 P 1 1
0 100 200 300 400

N

0.5



	Contents
	Page 1


